P|Prox: O}0| 3 20|E
Chelo| B2t 24X

| -
24 EHNRIQ| WEE Al A

[
il
o
H
o
Im
I
rr
inl
ox
fo
_('JI_
w

ZOIE A2| B 0| 7ts

- 22T O{EE|AHI0|M 20FE 2 AT MHHE C| X2l

ifm — ¢lose 40 you!

,_@f"

-

‘//?///// i oy




- Exus| ZH IS AAYEAE | coya
[mm] [mm] -
M8 x 1 x 60 Es 0.05..1.5 0.05..1.5 IEP200
M8 x 1 x 60 Bt 0.05..3 0.05..3 IEP201
M12 x 1 x 60 mes 0.2..2 0.2..1.9 IFP200
M12 x 1 x 60 £ 0.4..4 0.4..3.8 IFP201
M18 x 1 x 60 e 0.5..5 0.5..4.75 1GP200
M18 x 1 x 60 i 0.8..8 0.8..7.6 IGP201
M30 x 1.5 x 60 mes 1..10 1.95 11P200
M30 x 1.5 x 60 £ 1.5..15 1.5..14.25 11P201
T7tel & AIARE CHAIE 4 2l ZHIHQ ook S
ASA Mejo] BE YA £ 4 20jo] e 7
S B2 MY 2ollA B4 BRI 2|7t Hats St elEHol= 1O-Link
S =|0{0f BHLITH 0|21 O B2/ H 0| MO M MZ 2 Hel s ol com2
MAE Zl# 58 NABOR DA E 4 s FAFO D - (38.4 kbaud)
Zted s O}ol
235 oforelLich IO-Link #3 & 1.1
&3t Azl 4K
_ - - 10 2E
SEH HESYA S5 LS NBSHE 2 MM E o0 o
EH o] o = Jt%|5 = 0. =2 =35
dto| 2 = 0|E |:|-r'_|—| HE| & Z X5t _0 = 10 Llnk_e ¢t LA QAR ZE 2 A A
Ael gtoz MBEUCHL 35 EIS 57 2ol YHS X
RLELICH BRI B4 7 4B10| THS 3 S0 MA O 4 maNA %) (] 3.2
HE o) YES 0IFLICEL MAE BHOIA 22|28 ojMsof
ZA AEO| JHSEILICL 1Z0IE £ O S YEB 3FQAE  FHes °cl 25..70
22| 5302 2 (0Linkis BRI B B4 AL E
EA 4x B8 LED

ADstCixfol I
MMz g £2= 529 028 2 215t 60m 202
MY HE M12, M18 £= M30 st 22 XM SE LTt
ot MM = AV Eo| ZotH A A AR LEIARM SE|ES
ERELCH O 23 2[0f IPEOKS| =2 23532 F
2R SEME A AASE & ASLICH
BEST FRIENDS
-
S8
:_ § moneo/wenfigure free
58 ,C;
I S
o '
& 5
=g @
H ©
b £
o
<
ol §
o £ moneo|configure free 10-Link QIE{H| 0| A 10-Link OFAE]
?ﬁ ko |O-Link 91 Z2}9| mfetH E PCOl| A 10-Link C|H}O| A9 Profinet QIE{H 0| A S 2 ]t
~ £ NE& 2ZEQ0] oetHEe MEE Z=- 58k otaHy

IP65, IPG6,
IP67, IP68, IP69K

4Al 71% dlo|E:
ifm.com/fs/IEP200



